ERES | E | A Eme | awe | PEILC EPES | w15 BEe | ans (PEZEO
4690 | 30 | = | mEEm | oEm 120 | 70 | & | mEsS® | 8E | ®HY
41691 40 z HWE™ BE HY 41721 20 £l EBH™ B2F
41692 20 8 HWE™ L HY 41722 40 @z E3=F: ) BRE
4693 | 40 | B | mFm | ®E M123 | 50 | & | mEHG | 8BE | BHY
41694 20 z HWE™ BE 41724 50 © E3=F: ) BRE
a6os | 50 | B | mEm | ®m M125 | 60 | & | mEHSG | hBE| HY
41696 30 8 HWE™ L HY 41726 60 £l E3=F: ) BRE HY
41697 10k | B HWE™ L HY 41727 70 £l E3=F: ) BRE HY
a698 | 50 | B | mEEm | &% M128 | 80 | & | mEHG | BE | BHY
41699 20 z BiRET™ BE 41729 80 £l E3=F: ) BRE HY
41700 50 z RiRETH BE HY 41730 80 kg E3=F: ) B2F HY
w01 | 10 | B | mEem | & M3 | 0 | & | mAEHSG | 8BE | ®HY
41702 10 z EiRET™ BE HY 41732 80 kg E3=F: ) B2F HY
41703 40 = 10 BE HY 41733 50 £l E3=F: ) BRE HY
41704 60 L 10 h & JE 41734 20 £l EBH™ BF
41705 10 = 10 BE HY 41735 50 £l EBH™ BF
41706 10 L HiEm L HY 41736 70 £l E3=F: ) BRE HY
41707 40 L HiEm BE HY 41737 30 £l EBH™ BF
41708 20 z HiEm BE 41738 10 £l E3=F: ) BRE HY

E/zﬂk
417069 76 2z B i #-L) 41739 40 £l EBH™ PEE
41710 70 L RAFH BE HY 41740 10 £l E3=F: ) BRE HY
711 50 L RAFH BE 41741 20 @ E3=F: ) BRE
41712 30 z RAFH BE 41742 20 £l EBH™ BF
41713 40 L BRIERET BE 41743 10Kk | % E3=F: ) BF HY
E?l
414 76 2z SLRET A #-L) 41744 50 @z E3=F: ) BRE
41715 50 z BRIERET BE 4G S s B aan CTE
41716 90 z BRIERET BE HY 41746 40 @ E3=F: ) BRE
M7 20 z BRIERET BE 41747 10 £l EBH™ Tl HY
41718 20 L EBH™ BE 41748 10k | B EBH™ Tl HY
ame | 0 | B | HBAT | 8% M9 | 20 | & | mEHG | 8BE | HY




EPES | w15 Bt | ens PR ERES | w8 | BEe | ERs | PEgc®
a0 | 10 | B | wExE | BE | HY a0 [0k | = | xwEm | mL | HY
1751 0| & | maam | s 41781 | 50 | % K CIET B
a2 | 10 | B | wE#T | 4%E| sHY g2 | 10 | B | kEEEw | BE | HY
41753 30 = N B 41783 70 5 -l &\

41754 30 3 N BIE 41784 70 5 tBEHEN | PHFE

ams | 0 | B | nuE | BE ams | 20 | B | mMR® | BE | 5Y
arse | 10 | x| nmw | B 178610k R | B

41757 20 3 N BIE HY 417817 80 T FRiR™ L

41758 20 = N 235 HY 41788 60 5 fRR™ BE

ame | 40 | B | uE | BE ay | 6 | B | MR | BE | 5HY
41760 10 3 N BIE 41790 50 T FRiR™ BE HY
41761 20 3 N BIE HY 41791 20 5 tBHET BE

41762 | 10K | X N "L HY 41792 40 x FAT P&

41763 10 = N 235 HY 41793 40 5 tBEHEN | PHFE

41764 10 3 N BIE 41794 50 5 tBEHEN | PHFE

41765 90 = N TL HY 41795 60 x tBEHEN | PHFE

41766 50 3 N BIE HY 41796 30 x -l L HY
41767 30 = =y kil BIE 41797 |10k | B -l L HY
41768 20 5 PN 235 41798 60 5 fRR™ L HY
a9 | 20 | B | xmm | B | &Y 4799 | %0 | B | RRE | HL | &Y
41710 20 5 KAHE 235 HhY 41800 10 x £ 1LET L HY
41771 70 = Rl P EE 41801 10 5 fRR™ L HY
am2 | w0 | B | amd | ewE g0z |okiE| B | RRE | HL | &Y
41773 70 5 Rl 7L HY 41803 80 = -l hEE

41774 40 = Rl BIE HY 41804 70 x tBEHEN | PHFE HY
41775 10 5 KAHE 235 HhY 41805 50 x tBEET | PHFE HY
41776 50 E KAHE 235 41806 40 = tBHET BE HY
A777 10 = Rl 235 41807 20 5 -l &\

41778 10 = Rl TL HY 41808 50 5 hEM [z3hd HY
41779 30 = Rl 235 HY 41809 20 T HhEM BE




EPES | w15 Bt | ens PR ERES | w8 | BEe | ERs | PEgc®
41810 30 S 2Bm BIE 41840 70 s [EIEZ: ) BE HY
agit | 50 | B | wEw | BE seat | 50 | B | smmE | @

41812 10 S IMEM BIE 41842 40 b i) BE

41813 60 S Ao BIE HY 41843 50 T HEH BiE

41814 40 3 2Bm BIE 41844 30 L H2HT (23

41815 40 = B2ITHT BIE 41845 70 s HEHT BE HY
41816 20 B 41846 20 ) BiET BE

41817 20 + 41847 50 z EiEh BiE

vgis | 40 | B | mIm | ®E | BY seas | 10 | x| mmm | L | &Y
41819 40 S BEITHT TL HY 41849 70 T ®igm "L HY
sig0 | 20 | B | mIEm | L [ &Y ags0 | 0 | x| mEw | wE | Y
ve2t | 0 | B | EmG | BE | 5HY aest | 0 | B | mmw | &

521
41822 40 % & ET #E 41852 70 5 Wi e
| B/21&H

44823 46 T —HFEF— 41853 70 T Rigm BE HY
41824 30 = KIRHET BIE 41854 20 s Rigm BE HY
41825 40 3 HhEM BHE 41855 90 T Rigm BE HY
41826 40 3 HhEM BHE 41856 60 s Rigm BE

41827 50 B——hFH—8E 41857 70 T Rigm BE HY
41828 10 S hEM BIE 41858 60 s Rigm BE HY
41829 50 3 KiBHT BHE 41859 50 5 g B

41830 40 8 B2ITHT HhEE 41860 20 L g B

41831 40 3 FHM BHE 41861 80 T Rigm BE HY
41832 10 3 FHM BHE 41862 30 s PN BE

41833 40 3 FHM BHE 41863 50 L b (23

41834 10 S B3kt BIE 41864 30 T PN BE

ags | 50 | B | kEw | BE | BHY sges | 60 | B | k@AW | %

ag6 | 0 | B | MAME | 8 sess | 0 | B | kmw | B

41837 20 S R A L HT BIE 41867 10 5 M&h [z3hd

41838 30 S R A L HT BIE HY 41868 10 5 M&h BE HY
4839 | 0 | B | BMAWE | BE | HY agey | 50 | B | msm | ®mE | HY




EPES | w15 Bt | ens PR ERES | w8 | BEe | ERs | PEgc®
41870 50 5 PUEY: 1 P EE 41900 10 L ZEh L HY
41871 30 5 HMILTH B 41901 10 T B B HY
41872 60 = Zmm BIE 41902 10 L ZEh [23hd HY
41873 50 5 PUEY: 1 BIE 41903 20 L ZEh FL HY
41874 50 3 A HhEE 41904 20 5 SUES ) B
41875 30 = AHLLT BIE 41905 |10k | % 3L BE HY
41876 50 = =T BIE 41906 50 x HE LT BE HY
41877 60 5 =T BIE 41907 20 5 HE LT L HY
41878 60 = A HhEE 41908 20 x #HE& LT BE HY
vgty | 50 | B | m=mw | % no09 | 20 | B | mmwm | BE | HY
41880 20 5 HMILTH B 41910 |10k | B ZHEH FL HY
41881 40 5 PUEY: 1 BIE 41911 20 L ZHEH L HY
41882 50 = A BIE 41912 30 = MUE BE
41883 10 3 A BIE HY 41913 30 5 SUES ) B
41884 20 3 A BIE HY 41914 30 T iR BE
41885 30 = A BIE HY 41915 20 L ZEh [23hd
41886 50 3 A BHE 41916 40 T B BE
41887 50 5 PUEY: 1 235 HY 41917 40 L ZHEH BE HY
41888 30 5 FN3LTT BIE 41918 20 x mEM BE HY
41889 40 5 PUEY: 1 BIE 41919 50 T mEM [z3hd HY
41890 30 5 HMILTH 235 HY 41920 60 5 mEm BE
41891 80 = Zmm HhEE HY 41921 50 5 mEm BE
41892 40 = A HhEE HY 41922 |10k | B mEM BE HY
41893 40 3 A TL 41923 50 L SEHET [23hd
41894 50 = Zmm BIE 41924 20 T £ BE
41895 90 5 PUEY: 1 235 HY 41925 20 L SEHET BE
41896 40 3 Zmm BIE HY 41926 50 5 mEm BE
41897 40 = Zmm TL HY 41927 20 5 mEm [z3hd
41898 20 3 Zmm TL HY 41928 60 T mEM [z3hd
41899 10 = Zmm TL HY 41929 10 5 mEm [z3hd




EPES | w15 Bt | ens PR ERES | w8 | BEe | ERs | PEgc®
41930 70 3 BmEM BIE 41960 10 s AR BE HY
nwt | w0 | B | mRm | BE aoe1 |10kE| & | wEE | sL | BY
41932 10 5 BmEM TL HY 41962 10 s AR BE HY
41933 40 = BmEM TL HY 41963 20 5 AR BiE
41934 40 3 BmEM TL HY 41964 40 b 2 "L HY
41935 40 5 BmEM mL HY 41965 50 5 2w BE
41936 70 5 BmEM TL HY 41966 10 s SRR BE HY
41937 40 = BmEM TL HY 41967 20 T AR BE
41938 40 3 BmEM BIE 41968 20 5 HRT BE
41939 20 3 BmEM HhEE 41969 50 5 HRT L HY
41940 30 S BEM BIE HY 41970 50 = AR BE HY
41941 10 S BEM BIE 41971 50 T AR BE
41942 50 = BmEM BIE
41943 50 E BEM BIE HY
41944 20 3 BmEM BIE
41945 40 3 BmEM BIE
41946 30 3 SE AT BIE
41947 50 5 S 2303
41948 50 5 S 2303
41949 90 S wET BIE HY
41950 |10k | B Eop ) BIE
41951 80 3 wET BIE HY
41952 50 S wET BIE HY
41953 30 3 wET BIE HY
41954 10 = wET BIE
41955 10 5 A 2303
w96 |10kE| B | mEE | BE | BHY
41957 40 = 2w BIE HY
41958 10 = 2w BIE
41959 10 = 2w BIE HY




